S'Oka
o lookz
7 m, =

m rllk 2 O-3

L
Q.
AN e
el
Det




Interactive Question Answer

A cart with mass M is placed on a
frictionless track. One end of a

cord 1s attached to the cart and the

other end is attached to an object | m
with mass m as shown. The pulley m
has no friction. o= 2 @I:S

When the system is released from rest, the cart has an
acceleration given by a. If the mass of the cart is
increased to 2M, what happens to the acceleration?

A) It increases by 2 B) It decreases by 1/2

C) It decreases by 1/2 D) It decreases by 1/4
E) None of the above
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Interactive Question

Which of the following is the correct free body QEMEB
for an object sliding down a frictionless incline.

(A) (E)
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- Interactive Question

Which is the correct free body
diagram for an object sliding
down an inclined surface?

Don’t neglect friction.




